Thursday Division — you need to use your knowledge of the 3x table to help you with these

Circle the counters in groups of 3 and complete the division.

000000
000000 3=
000000

Circle the counters in 3 equal groups and complete the
division.

000000

200000 3=

200000

There are 15 pieces of fruit. They are shared between 3
bowls equally. How many pieces of fruit in each bowl?
Children use cubes to represent fruit and share between

bowls.
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Bubbles come in packs of 3
If there are 21 bubbles altogether, how many packs are
there?




